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Multiplication Primary 6

(Estimate = 4000 x 7= 28000)

Say the sum and estimate the answer. 28 is about 30. 3 X 7 equals 21 X 10 equals 210.
Seven times eight equals fifty six - fifty six is 5 tens and 6 units - record putting a
small 5 under the tens column to remind you to add it on when you have multiplied the
tens.

Seven multiplied by two equals 14 add 5 equals 19 - (this is 19 tens 19 is 1 hundred and
9 tens - record.)

Seven times 3 equals 21 add 1 equals 22.

7 times 4 equals 28 add 2 equals 30.

Draw a line under the answer and compare with your estimated answer.






